
��� ��
� ���� ������
�������� �����
� ������

� �� ��� ���� ����

������� ��	�����


� ��� ��� �� �


� 
� � �����
	� 
���

	� �� � �����
	
	���� �
�� � �� �	
	
� ��	� � 
� �� �

�	
���� 
���	���	� ��
����� � �
� �� 9��	������




� :� ���� ��� 

��� �� �	� ���� ���

� �� ��	������




� � �
�


�
 �� � ������
�� �� 
� ��
��

�� �� �	� �� 


���� �� �� ��	��	� � �� �� 
 
�����	

� �
�� ��
�� � ��

��� 
��� � %� �� ��� ��� ��� �� 	

� ���� �� �

���
�
� ��

����� � � 9��� ��
�� �
:	��
� 	��������� � ������ 
�

� � �� �� �� �� � ���� ��

	
�
�

"��� 
� �� 	� �� �����	
� ABCD � � � ��� 	

� � � ���

�

	� a 
b���	����
�� 
� � ��� ��� �� �����
	�� 
��	� �

��� � �� �����	
���

F

E

CS
D

A Ba

b

b

" � � �� �
� DC �����
� � ���
�� E� �� �� �� 
�

|CE| = b�" � � ����
	�� DE �� 
��
� � �����	

��#

���
�
C � �� �� �
� � ���� 

�	� 
��� ����
	��.��
�� F

� 
�

�� �� 
� �� ���� 

� 
�����	

������
	� CF � ��� �

	

� 
� ��� ��� �� �


� 
� � �����
	� 
��	� �� � �����
	


� �� �����	
�� ABCD�" � 
� ����

��
3 |DC| = a ��

|CE| = b � � � � ��
���
�� �
��

����

�� ��� �� 
�

�
�
	� 	� !
� ���	��� � �� �����	�� ������� ���� ��

��

� �� � ���
	� ��� 
��
� �� 	� ��
� 	
��
	� 	���
�� ��

�

��
!
� ���	����
� � � �

|CF|2 = a · b.

��
� 

��
� � � � � � �� 
� ������DEF � �� ������ 	� ���

� � �����
�� �
��

� � ����	�� ���� 	� � � ��� �


���� �����	

��

��� ��� ���� � �� �����	
�� ����

� ���� � � ��� ��� ���


������� ����� �� 	
������� ������
� � � � �� �����	
�


��	� �� � �����
	�� � �� 
� �
��
	� ���� 
��	���� �	�

��	�����


� 3

MN

A B

C

D

"��� 
� �� 	������ABC� ����
� � � ����
�� �� �
�
	�

CD � � ��	����
�� 
� � � �� �����	
� ABMN�������
	�

��� � �� �����	
�� 
��	� �� 
� � �����
	
������� ABC3

P(ABMN) = |AB| · 1

2
|CD| = P(△ABC).

��



�� ��
 ����� 
 � ��
 � ����

5� �� �� ���
��	
� �� �����	
� ���
 � ��	� �
� � ���

��� ��� ��	����
�� � � ��� ��� �
��	� �� � �����
	��

� � �� ��� ��
�� �
�
�� ��

� 	������? "
�
	� ��� � 
�

�� 	
� 	

� ���� �� ���

�� �������� ���
�� ��
� � �� ��

�� ��

	
�
�� �
�� ��

�
���������ABCD�

C

B

A

P
1P

2D

a

a
1

a
2

�

� ��	� ��� AC � ��

��
� � �
���������	� ��� ����

���� �"��� 
� P(△ABC) = P1�P(△ACD) = P2�

%� � �� �
�� ��� ������� ��	����
�� 
� � ��� ��� �� 
���

	� �
! � �����
	� �"��� � � ���

	� ���� 	

� �
! ��� ��� �

�� 
��	� �� a1 
a2���	����
�� 
� � � � �� � �� �����	


������� �� ���� � � ���

	� a1 
a2�@
� ���	��� a ���

������� � ��� 	

� 
� ��� ��� �� � �����
	�� 
��	� ���

�
���������� ABCD�" � 
� � ��

��
3

a
2 = a

2

1
+ a

2

2
= P1 + P2 = P(ABCD).

� � �� � 	������ � ����� � �

� ��	� �� � � 
� 
��	��

��!� 
����� �
	� �������� 
� �	� 
� 	� ��

�� 	� �

	

� ���� � ����� �
��	�����


� 	
����� � �������� �

��� ��� �
��	� �� � �����
	��

5�� ��� �� �� 
� 
������	�� 
��	���� �	� 
� 
��� �	�

� ��	� ��� ��
���	� 
� �� �� �� 	� ������ �� � 
�� 	
�

��	�����


� ��� ��� �� � �����
	�� 
��	� ��� 	����

�
�� � �� �	
	
��


� �� ���	�� ��
��
�	
� 
��� � � �

� �

� ����� �����	
� � . � �� �� � �
� �
� 
	� ��� � �

�� !�
��	���
	� 

��	���� �	


� ������ �����
�� 	
�

��� ��� �� �


� 
� � �����
	� 
��	� �� � �����
	
�� 	��

����� �+ ��� 	
� �� 
� ���
�� �
���	
! � 	�
�
�
! � ������

� � �� ��	� ��� � 
���	���	� 
	���� ��� �� �� ���

�	���

��� 
��� 
�
��
��	��
���� 



� 6� ��	� �


��� 
�� � ������
� �	
����7� �� ��

! � ��
�� !�

��

�� ��	�����


� ��
�� �
�� �� 	
���� ��

��
� 	� ��


����� �	� ���� �� ����
�����
�� 	
���
�� ��
�� ��
�

�

� � �� ���� ����� ���

���
� � �� ���
� � �� �� �

	� ��
��� $ �� ��	� ��� �� � �� � � �� �� 9��	����
�� �
:

�	� �

���
��
�
�� 
� ��
��

�� �� �	� ��� 
�� �� �� ��� �

"

��� 	�� ��

� 	� ����	
! � ������ � �� �� 	� ���

�� 	
�
�	
�	

� �
���
��.� 
� ���� �
�	� 
��	���� �	� ���

�� �� �
�� ��
���


� ���� 
� ����� ����
�	
� ��
���� �


�� ��� ��� ���� ����� �� �� 
	��" � 
� ��� ������ ��

� � � ��

� ��� � �� �� �� ���� � ���� 
��� r ��	����
��

��� ��� �� ���

	�� � ��� 	

� a��� �� �� ��

��
3

r
2
π = a

2.

;� �
� �� ��� ��	����
�� �
����
	� ���

	� a = r
√

π�

# � 	���� � ��

� ����
	� 	

� � ������ ��	����
�� �
�"
�


� � ������ ��	����
�� �
	
����
	� ��
� 
� ���

�	
�

	��� ����
	����
�	� �� �� 
� 	�� ����
� 
�� ���	�����


�� �
����
	� ���

	� π�# � �� �� 
� �� �

	
�	

� �� ����

���� ��
�� 
� ��� ��� ���� ����� 9	�� ����
� � 
�
�


� :� ���� � �� 
� �� �� �� ���

��
� 
� ��� � 'A����

�� � �� �� �� ��
�� �� �� �� 	�� ��	� �� � � ��� � �
�
��

�	� 	
� �� ����

� 
� � �����

� � ��������	� 	
� ��
�

� � � ������ � ���� ���

� �
! ��	�����


� � ����� �
�

�
���
���� �
� � ����� �� �
! 
��� 	�
���	�	
! 
��	� ����
�

" � 
� ��� �
�� 

���	�
������� �	
���� � ����� �� �
��
�

���

�	
�� � ����� �� �
! 
��	� ����
� �� 

�	� �	
� ���

��


�	�
� � � 8 ��
	� 'BB)�	
�� � �
�
� � ��� � �
�
� �

> ���
	� 	� C 
	��� � 		6'BD)�1 'A=A�7 ���� �� � 
�

�� 
� ���
 π ��� 	�
���	�� 	� �� 	

� �� ��� ���

�	

	
��
� � ����� �� �� 
��	� ����� � �� 

�	� �	
� ����

�


�	�
� � � � 
� �
� � �
��	� ���� �� 	� �� �� 	

� � ��

���
� �� �	� ��� 
�� �� �� ��� ��	����
�� �
����
	� �


� 
�

���

	� 
��	� �� π�����
� �

��

� � �� ������ ��� ��

�� ���� ����� 
� 	��
���
��

�� �� � �����
��

� �� ��� ���� ����� ���� 
� � �� � � ������ 
�

���� � ���

�
��
� 	

� � �� �� �� �
�
� 	��
� � ��� � �
�
� �
� � �



���
	
� � � ���
�� ��

! �� � 	��
� 	� �� ��� 
����


� � ��� � �
�
�� � ���� �	�� 


��	� 
�	� �
����� �
�� ��

� ��	� ���
�
��� �	
�����	� �� � � �� �	� � � ����
� � �
�	�

�
��� �	
� ��� ��

! ��� 
��	�� �� 
��	���� �	


! ���


� 
� �
���
� �	� 	� �� !	��� ��!
� ����
� ������� ���

�� 
� π ≈ 3
1

7
3

�� ���������	
�� �
���
���� � 	 �����



B

A

C

D

E F

S

"��� 
� AB � ��� 
�� ����� � � � ���
�� ��� � ���
�
S


� ���� 
���� r�����
	� AB � ��

��
� � 	� 14 
���

	� �
! �

����� �� �����
� � 	� 	
�
���
�� C ��
� 
�

�

��
� �� 
��� 11 : 3�������
� � �� �
� ���� 

� �

���
�
C 	� AB 
	��� �	� �����	

� �

��
� � ���
�


D� $ ��	� �
	�� ��	����
�� 
� � ��� ��� �EFDA 	� �

����
	�� AD�������
	� ���� ��� ��� �� � �
��
��	� 
�


��	� �� � �����
	
����� �

��
� 

��
� � �� 
� ������ ABD � �� ������ 	 � � �� �

�
� ����� � �
��!� D 6. � ����� � ���
� �7� $ � � ��

�� �
�	� � �3

P(EFDA) = 6E���
��� � ���
� �7

= |AD|2 = |AB| · |AC| = 2r · 11

14
2r

=
22

7
r
2 ≈ 3.14285r

2.

#��
� �� � � �� �� 
� ���� 
��	���� �	�� ��	������




�� ���� �
�	� ����� 9��� ��
�� 	: �� 	
���� 
�� 
�

� �� �
�	��� ���
	������
� π 	� ��

� ��

� � ���

���� 
� � 	� ��� 
� ���� �

��� �� �� 
� �� 	� � �
	�

�� �� � 9��� ��� ���� ����� : �� �
� � ��� 2��� �� 	��


� ������ 
�
�� �� �� � �� ��


� 
	��
�
�	� 
� �	� �� 
�

	��
���
� 
�
	�� �����
� � � � � �
�� �� �� �
� 	��
	��
�

	� � 
�
� � �� � � ��
���� �� 	���
� ���	���
�

" � �� 
� 

�
� ���� �
�� 	�� � �
�� �� �
	��� �� 	
� �

��

� ������ � ��

� � � � � ��� � ��
� � �� �
� ���
�
�����2


� � ��� � �
�
� � @
� ���� �
� @
�� � 
� ��

� � � � � ���

���
��� ��� ���� ��	��� ������� � � ��	�� �	
�

����


�� �	
	� �� ���	
�����
� � ��

� �����	

� �

* �

� � ��
� �

��
 
� � � � �� @
� ���� ���� ��� �� �

	
�� � �� �� 
	�� � � ����� 	
! 
����
�
! � ��

��	
!

��� ���� �* ���	
� 	� � � ��� ����� @
��� � E��
��

��� � �����%
�
� 
� � D�����
��
� � �

� � �
��� 
�� �
�

����� � 
. � ���������
	�� 9	� ���
��:� # � ��

���

	
� �� � 
�
� � � ���� �� � ���

�� �
�� �� 
� �
� 	� 
�� 	

� � � � �� 	��
��� 


��� �� �
������ � �
�
� �� ��� ��

� � 	
����� ������� ��
� �� ����� �� �
� �
�� �
��� � �

�
�F
�� �� �� �
�����
� 
� 	
��
��� � �� �	�� � ��
� ��

� ���	� 	� �
�
	� �� � � � �� �

� 
�� ��� �
� ���

� ��

�� �� ��
��� ��� �� 	
�� ��
� 
� � ���� 
� ��� @
� ���� �


� �� ��	� � 	��� � ���� �
��� ��

�� �� �� ���
	�


���
� �� 	
� ���� ���

��# ��� � 
� �
� 	��� � ����
�

�� �� � 
���	


	��� �
� �����
	
��� 	� � �� @
� ���� ��

� � � ��� 
��	
� �� 	� 
���

! ���� ���
�
� �� � � ��

���

�
�F
� 
� � ��
6� �

� E���
�� 7 ��


� � ����� � � � ������
�


���� ���

� � ������
�� 	���
�
�
��� �� � 
� ��� � 	��

�
� � ��

��	
� ��� ���
� � 	� � 
� � � 
� �� � 
�� �	� �
���

9 �	��� ���� ���

�:���
� 	� ��� ����	

� � � �
��� 	��

�� 	� � 
� @
� ���� �	� 
� ��	� �


� � � ��

� �� ���
� �

� ��	��� � � � � � � �� �� ��

�� �� � 
� � 	

� � �

��


�����
� ���

	��
��� ��������� . 
�� 	
����


�� ���
	� 
�
���
� �	

� � ��� �	��
�
��� � �� 	
�� � ������

� � ��� ��� ���� ����� � �


� 
� �
���
��� �@
� ���� ��
�

��
���	�� �� �� ���� �� � 
��
! ��� ��� ���� ��	��� �

;
���
� �� �� �� 
� @
� ���� �� ��	� �� � ��
��� ����	���


�

���
� � ������ 	

!��� ��� ��� ��������

� � ������

���� 	�� 
��	� ����� �
� 	� �� �����	
�������

� �� ��� ���� ������

. �����ASB 
� 
��	� ����� �
� 	
� �� ������ 	�� ����	

�

��� S ��
� � ���� �
���
�� � � A
B
� ��������	

� 	� �

AB ������
� ��	�������� ��
� � �� 
� � �����
	� ���

	��� 6� �� ��7 
��	� �� � �����
	
������� 6�����7�

���� �
�� � � ��� �� �
�� 
� � �����
	� 6P17 � ����

����� 	� � AB 
��	� �� � �����
	
6P27 �����	�� 
��


��
�� ASB3P1 =
1

2
·
(

a
√

2

2

)2

π =
a

2

4
π. � ��

��


� P2 =
1

4
· a2

π �� 
� P1 = P2�

��



�� ��
 ����� 
 � ��
 � ����

BA

S

aa

� � � 
�� P1 
�� P2 ����� �� � � �����
	� �����	��

��� 
��
�� 6����	�7 ���
� �
�� � 
���� � �� 
� 
�
��

����	
� �

����

� � �
� 
�� ���� 	�� ��� � ���

"��� 
� �� 	
��	� ����� �
� 	��� � �� �


� �� ���

	�

���� 	

� � ��
����
�� �� 
��� |AB| : |BC| : |CD| :

|DA| =
√

3 : 1 : 1 : 1�

. �� � ��� �� 
��
� � �����	

� 6�� 
� 
����
�� �� � �� �



��	� ����� �
� 	��� � ��7 � � � ���
�� ��� � ���
�
S�%� �

�
� ��	����
�� 
� � ������ABE ��


� ��
�
� 	�������

ASD�

%���
 � �����
	� ��

� ����� �	
! ��� 
��
� �� 6����	�7

����� � � � ���
�� ��� S 
� ��	���� � � AD�DC 
CB


��	� � 
� � �����
	
��� 
��
�� 6��


� 
� ��
�
� 	� ���

��


�	��� ��
�
	���

√

37 ����� � � � ���
�� ��� � E

B

CD

A

S

B

CD

E

A


� ��	����� AB 6�����7� �� ����� �����
	� ��� � ���

ABCD 
��	� �� 
� � �����
	
���
� 	� ��	��� 6� �� ��7�

+ ��� � � 
��	� ��� �� ��	��� � �
� 
��
� @
� ���� �� 
� @
�

�� � �# 	

� � 
� ��	�����


� ��	��� ���� 	� �� ��	�

�� �	
� ����������
�� � � ���

	� ��� � ��� 	
! ���� 	
�


� � �� 
���
√

3 :
√

3 :
√

2 :
√

2 :
√

2�

E

A

B

C

D

* �� �
� � ��� � �
�
� �
�0 ����� �
��
�����	�� � ��� �� �

�
�� �� �� �� ��� 
	
� �� ��
��
�
� � ��	��� � � ��	��

���
�� 	
� �� �� �� �������
�� � ������� " � ��� ���

����
� 
� ��� � 
����

@
� ���� ���������
	� �� ������	�

� � 
! ���
� 	� ���� ��
�� ��� �

�� ���
� ��
� �� �� 	
�

� � �� ��
�
�� � 	� &D℄�

� ���� �� ���

# �� ���� ��
 � � ��� � �


� �
� � 
	� �� �
	
��	��	�

�� ����� � ��

��	
�� �� 

���� 	
�� ���� 
�����	

�

� ��� �� �
���
�
	� ��� �� � � ��� � �
��
��� �
	

��
� ��
�


� 
� 
	����� � �� ��
�	
� � � ��� � �
���# � 
�� �� �� ���
!

�� �
�	� �
! �� �� �� �� �	� �	� �� � � ����� 
	


�	
9�

���:

���� ���

� �
�

. � ��� � � � �

� ����� ��� ���� � ��	� �� �
��	���� ��

	� 
�

�� � ��!
� ����� �� �� ��� ���� 	� �� � �����
	�

�
���� �� ���	
! �����	
� �����
� � �$ 
��� 	
����


	� ���
�� ���
� � 
�� �� � ,
�5�� 
�� �� ��� � ���	��

��� �����
���� ����	 � ,
�5�� G'6����'D�7�� !��� �� 
�


����	���� ���� � ,
�5�� DD6����)''�7�# � ���� �� �
�

���� �� �
�� �� 
� � �����
	� 9� ��
�	��:6� �� ��7 
��	� �

�� � �����
	
����� �� ���	�� 
���	�� �����	

�� �

� � ������ �� 
� � �����
	� 9���	� �� ��� 	���� :
�
� ��

����� � 6	� �� 	�
� � ��7 
��	� �� � �����
	
����� �




�

� ��� 
�� ����
	� CD�

�	 ���������	
�� �
���
���� � 	 �����



A BC

D

;��� 
� � ��	� �
��
����

�� �� �� ���� �� � ����� 	�

@
� ���� ����� � ���� ��	���� 3 ���������	

� �� 
�

� � 	� 	� � �� ���� � � � �� �����	�� ������� 
� �����

����	

� �� 
� � 	� 	� � !
� ���	���� ������
� ��

�

��	��� 6� �� �� 
����	� 7� %���
 � �����
	� �
! ��	���


��	� �� 
� � �����
	
������� 6�����7�

���� ���

� � �� 
� ����
� �����
	� � ���������� 	� �

�� ���� � � a 
b 
��	� � � �����
	
� �������� 	� � !
�

� ���	���� c� �� �� 
��� �	� � ��
��
��
� 
� �����
�

	��� �
��

�� " � 
� �� � �� 	���
� � �

��	� ��� �

a
2 + b

2 = c
2 � � π/8����
��
�� �3

1

2
·
(

a

2

)2

π +
1

2
·
(

b

2

)2

π =
1

2
·
(

c

2

)2

π.

��� � � �� �� � ���������� 	� � �� ���� � � ����� ��

� � �����	� ��� 
��
�� 6�

��� 	� ��


7� ���
� �
�� �

A B

C

c

a

b

��	����� � �� �� ���
��� � �������� ����� �� � 
���

�� ��� 
��
������
��
�� � � �� �����	
������� � ��

�


��	� �
! ���
�

	� ������
� � � �� �� 
��	� �� ���
�

	�


���
�

��	� �� ������� ���

%���	� 
�	� � �� �	��
�� �� �� ��

���	�����	�����


�� 	� 	� � �� ���� � � 
��	� �� ��
��������� 
��
��� 
�

	� 
���

! �� 
� � 	
! ������� 
��	� �� �� ���
�

	����� �

�
�� 	

! 
��	� � 
� � ����
	
�� ��
�� ����
� ���

	�

�� ���� 
���

	� !
� ���	����

� ���
 �������� �� �� ���

" � 	� �� �� �� 	�� �
��� � � �
�� �� 	� 
� 	����
�� �� �

�� �� �� ��
��
! ��� 
����� �
�� 	�� �0 �����
��
��� ��	


� ��� � �� ���
� � �	��	

� 8 ��
����� � �0
�� ���

� �

,
�5�� � ��� ��	� � ��� ����
�
�� � � ���

�� � � ��� 	

�

6"��
���� ���� �� ����� ���
 ��� #	�
 �� ��� $�
	�7

&=℄���� �
��
	� � ���	�� 
���� �
�	�� � � ��� � �
�
� �� �

� � 
���
� ���� 
� � 
��� 	����
�� �� �� �� �� 3

� 5��� 	

� ������� ABC � ��� 
��
�� ��

� �����	

� �

%���
� �����
	� P1�P2 
P3 ��

� �
���� 6� �� ���	� �

�� 	�
� � �� 
����	�7 �� � 	
�	� �� � �����
	� S ��
�

��
��	�� ������� 
��	� �� 
� ���� �����
 � �����
	


������� ABC�

P
1

S

P
2

P
3

BA

C

���� � 
� �� �� 	� ����	
� 
������	
� � &)℄�� � ����

�� 	� �


� &G℄�" � � �� �	
� � �� 
� � ���

�� ��� �


� � ��� � �
�
�����
�
�
�
� � �� 
� 9� �� 	�:	� � 

�	
�	

��



�� ��
 ����� 
 � ��
 � ����

	� �� ��	
� � ���	
��� ���

� � ��� ��� � 		� 
	����

	��� ��
� ��� 	


http://kvant.mccme.ru/�

! " � � ��
����� �	� ���� 	

� ��� � ��� �� 
� � 	�� �

� ��������	

� ��	����
�� 	� �� ��	��� � ��� � ��
�



����� ��
�� �� 
� ����
� �����
	� ��	��� ����
� 	

�� � �����
	� 
��	�� � �������� 
��	� � � �����
	


��� � ��� �

O

" " � ����
	
AB ��� ��� 	� 
� ���
�� C �� �� 	� �

����
	� � � AB�AC 
CB � 
��� � ��� 	� � �� �
� AB

�� 
� � 	� � ��������	

� � � � ���
�� �
� � � ���
�� � �

O�O1 
O2�. 
� ��
� � � ��������	

� � � �� ���	


� ��!
� ���� ���	� �� �
	����.��
�� K�M 
N �
�


��� � ��������	

�	� ��

� � ����� 	� ��� 
��	� ��

�

��� � ���� ��
�� �� 
� �� 
�� � �����
	� ����� �

� ��� 
���� CD 
������� KMN 
��	� � π�

O
1

O
2

OA

K

N

M

BC

D

# "��� � � 
� � �� �� �� 	� ���
�� A�B 
C 
	���

� � 	� � ����
	� � � AB�AC 
CB �� 
� � 	� � �����

����	

� � � � ���
�� �
� � � ���
�� � � O�O1 
O2��

�
� �� 
� � ��������	

� 	� � BC � ����� � ��� 	�

� �� �
� AB �� �����	

� � � � ���
�� �
� � O 
O1�

��� �� 
BE 
� �� 	��	�� � ������	� 
� B	� �����	

�

� � � ���
�� ��� O1����� ��
�� �� 
� �� 
�� � �����
	�

����� � � ��� 
���� BE 6� �� ��7 
� �����
	� �������

KMN 
��	� � π�

A O
1

O
2

O

K

N

M

BC

E

$ " � ����
	
AB ��� ��� 	� 
� ���
�� C �� �� ��	�����


�� 	� ��
�����	

� � � ��� 
��
� � AB�AC 
BC ��

� ���
�� �
� � O�O1 
O2�$� �
! � ���
�� �� � ������	�

�� ���� 

� 	� � �� �� 
 AB 
�� �� �� ���
��	�

���
�� K�M 
N����� ��
�� �� 
� �� 
�� � �����
	�

� �� ��� ����� 
� �� ��� ������� � �� � 
�� 
�� 	� �

�� 	�
� � ��� ����� 
	� �� 	�
� � ��� ������� 
��	� �

π�

A
O

1
O

2
O

K

N

M

BC

� �� �� �� � � �

��� �'�(��&��!)�*�% ��#�!% �+��#	
#��!��
 �����	�
��

	���� �� 
�
�
���	� ����
����
�!+�,#� )&��

� �
���!

' #- .���!�/0��

��"�'��#�#1
�!�����
�� ��  ��	���!$ "�' � 2��/0��


������
� 3&�
#��#1! !�!
��
�	�" !
��
�	� #�
 ��

#�
 " �	�� ��
 ���� �� ��
 $�
�� 
http://agutie.
homestead.com/

4�(�� � 	#5 � 
6#�!7���#� �
�1!��
 
�
���
�� �� ����
�

����
�!)�
�
#�����
,#��
�8 )�#� � !)�
�
#����/20�

2���
� �% �*6#��&��#!��
 %��
&���	���
 '#(��	���
) ���

�
�!http://www3wittenberg.edu/bshelburne
/TheFiveLunes120408.pdf

�� ���������	
�� �
���
���� � 	 �����


